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GrfO7T Key

Automatic Mamory Switch

Change Sign key

Decimal switch

Division key

Ciear/Clear entry

Mudtiplication key

Fercent key

Subtraction key

Clear Memory key

Addition key
Total key

Read Memory key

ongratulations! You have just become the owner af
the finest, most complete and most versatiie eler-
tronic calcuiator ever made., Yoo will fing it to be
ware than a Tuxury...it will become one of your mos:
valuatile toois,

Please Read this fook Carefulty. It i5 important for
vou to know the abiTities of your new Columbie Hemory
111 catcuiator so0 it may Serve you well 10r many years,

Your (803IM) Columbia Memory III is equipped with nickel
caduium batterics that cam be recharged when they lose
theiv power. UWhen you recelive your calculator it is

" possible these batterics may be discharged and, there-

Tore, fail to operate your calculator, This is
sossible since rechargeable batteries will lose theilr
charge by approximately 17 per day when they are not
being used. Whenover your calculator js stored for
long periods it wil11 be necessary to recharge them be-

fore using your catculator again.

When chargeable batteries are new they may not ac-
cept a full chavge the First few timas they are
recharged. Do nat be atarmed if your calculator
regquires frequent recharging when you first use it,
The nickel cadmium ceils In our calculator are
designed to take several hundred discharge/recharge
cycles before losing their capaciiy. They should last
for years under narmal use 1f cared for properly. IT
replacement should become necessary, ai any time,
raturn your unit to Columbiaz Scientific, They will be
replaced at no charge during the guaranty period. Af-
ter the guavanty period, as specified on your warranity
card, they will be repltaced for a nominal charge.

Your calculator is suppiied with an AC Adaptor/Charger
which is to be used for recharging the batteries in

your Memory I1I. Whern it Is in need of recharging,
the display will get dimmer, it will fail Eto calgu-
tate, the numhers will begin to “"break up" in the
display, or numbars may flash and zergs appear to the
1eft of the display. Do net be alarmed!

At this point plug the recharger unit into the hole in

the top of the calculator and plug the recharger into

any 110V wall ocutlet. You may now ngerate your calgp-
lator while it 8 plugged inte the electrical outlet.
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hile vou are using your calculator the batteries are
set being recharged. Rocharging will resume when the
calculator is turned off. %o that your batteries will
have the longest possible 1ife span it is advisabia
to ¢harge for only 12 to 15 hours at 2 time, then

LSe your calculator unti! the batteries have dis-
charged again (thizs should take approximataiy 4 &0 6
hours of catculating time).

I L e e e

Jo not use any AC Adaptor/Chargey Other than the unit
supplied with your calculator.

Function Keys

Your 803M has 10 keys ( [O] through {9] ) which are
used to index into the calcuiator the numbers needed
far calculation. The decimal [-) key is used to index
the decimal point, if needed, 1nte its proper place
dnd 15 used just as you would wwite., Example:

12,345 would be entered as follows:

A 12)2{3) 4] (5]

The red i€] key stands for "Clear". This is a dual
purpese key, If you have indexed wrong numbers you
ray ¢lear these numbers by deprassing the key,
without clearing any previous totals or entries, pro-
ﬁlﬂn% you have not yei depressed any of the command

keys { CH (5] D (=] )

Upan compiation of any calculation, you may "clear"
all numbers and totals from the Eﬂiﬁ by depressing

the [C] key.

The "Chanae stgn key" causes all numbers dfs-
played on the display panel to be changed from a
positive to a negative number, or vice versa, for
further calculation. 1t is also used to make nega-

tive {minus} entries into the memory register.

ThE‘{E] key aliows instant caiculation of percentages
by indexing the percentage number the way you would

say 1t rather than converting that number into its
true mathematical designation. Example: With most

calcuiators the number 5% must be indexed as .0%
rollowed by the depression of the {E] key. But. with

your 3034 you merely index 5 and depress the [%] key.
Your B03M will avtomatically multiply vour number by
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b and divide it by 100 to give yvou the decimaily
correct answer. More on this later.

Memory Reys

The @I key stands for “"Read Memory". This causes any

numbers stored in the memory register to be displayed
when depressed. It will display thore stored figures
without "clearing" those figures.

The key stands for “Clear Memory". This key,
when depressed, causes your B03M to forget any numbers
stored tn the memory register. It will not clear
other numbers on the dyspiay panel.

The Eﬁ OFf switch is your direct access to the
memory register, With this switch in the "0ff" posi-
tion, your BO3M will nut store numbers for, future
refarence,” But with this switch fn the YGn" {AM)

position, all caleculation results will be accumuilated
(stored) in the memory register. AM stands for "Accu-

mutating Memory”. When your 803M stores figures in
the memory a smali red Tight will suddenly appear to
the extreme left of the display panel ard remain 11%
until you clear the memory by depressing the key.

All entries into the mesmdry are accomplished by de-
pressing the blue equals key. Therefore, to add 12
into the memory you would s he "AM" switch to the
"On" [left) position, enter oh the keyboard, and
depress the key, You wiil see the memory tight
come on in the display panel. Your BG3M will now re-
member tha numbar 12 untii you 1) _ Turn off your

calculatory or 2} Depress your "Clear Memory" kay.
Mare about this later.

Decimal Systen

Your BO3M s eguipped with the most sophisticated and
useful decimal system ever equipped on a calculator

its size. Tha decimal switch Fo g & atlows you
to determine the decimal pesitioning in your resulis,

With the decimal switch in the “F" position your
BOIM will altow the decimal in your results to auto-
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#atically “*float" te the proper position. More abput

i later. gliminate_the necessity of indexing the decimal point
with the[+]key when adding columns of dollars and
(7] With the decima} switch in the "2° position your cents Figures. let's do the following probiew:
BOM will cause decimals in all results, if any, to be £31.06
displayed at 2 places only. The Znd decimal will also +.05
be “roundad-off" to the nearest 100th. +. OA
Hith tha decimal switch set in the "4* position - 13?
your 203M w11 confine all decimals in the answer, if 95
any, t¢ 4 piaces, and will automatically "round-ofé -'25
the 4th decimal to the nearest 10,000th, =

First, set decimal switch at "F" popsition. {This is
to demonstrate the preblem as it must be done with
most calculatars).

Index Eﬂmm@@ (Read 11.06)

g demoastrate the decimal switch fynctions, Tet's do
the foillowing problem: 146 + 12 .

S5et decimal switch at “F" position.

Index [:]Lﬂ]LéJ

Deprass key {(Read 11.05}

Depress {+]| key Index - ){0)(5] (Read 0.05)
Index @ Depress key (Read 11.31}
[lapress [:] key ([Read answer: 12,1656666) Index [:][:3[:] {Read 0,04)
Here yvour answer has been allowed to “"float™® to the Depress key (Read 13.15)

maximum number of places.

index D@@ (Read 0.04)

et decimal switch at "2* position.

Now repeat the above problem. Gapress Key (Read 11.19)
You will now see your answer is 12.17. Your decimal Index 4 (Read 0,04}
has been confined to 2 nlaces and "rounded-aff." This EI@
is particularly useful in calceiating dollars and Depress key (Read 11.23)

cents and computing saies taxes.

Index { - ][ 2](5] (Read 0.25}

set decimal switch at "4" position.

Now repeat the above problem. Deprass [:3 key {Read 10.98}
You will see your answer is 12.31667. MHow vour decimal Index 5 Read 0.25
has been confined to 4 places and "rounded-off" at the ) [:J[:]III { }
4th decimal place. Depress |- | key (Read answer: 10,71)

[5] Tha *$" position on your decimat switch is used
for addition and subtraction only. Its purpose is io

Now jet's do it the 803M way.
Page & * ! d
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et decimal switeh 2t "3%" position.

tndex [T1){G])[6]) (Read 11.06}

Depress (+] key  (Read 17.06)

Index [:] (Read 0.03)
Depress [+] key  (Read 11.11]
Index [4] {Read 0.04)

Depress key  {Read 11.15}

Deprass IHI key {Read 1i.19} 0.04 has been
rapeited

Depress {+] key  (Read 11.23) 0.04 has been

rapeated
Index {2]{5] (Read 0.25)

Depress [ -] key  {Read 10.98)

Depress {-] key  (Read answer: 10.73} -0.25 has
been repeated

You just saved 15 depressions! Remember fo move
the decimal switch to "fF", “2%, or "4" before using
the answer for further calcuiations.

"Impified Constant™ for Adding and Subtracting

In doing the above problem vou noticed that your
803M allows you to add or subtract rumbers repeated-

1y without re-entry, This is because your B03M has
the abiity to remember the last number indexed into
the keyboard.

Because of 1ts unigue "Implied Constant" system 1t also

has the following capabilities,

"Implied Constant" for Multiplication

When multiplying various-nunbers continuously by a
constant multiplier, it is possible, after completing
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the first problem, to “"program” your BO3M to do addi-
tionai multfplication problems by merely indexing the

"variabie" number only and depressing the key. For
example: 12.345 X 9

12.345 X 17

12.345 X 13

Set decimal switch at "F" position

ndex (112} i3)(4)5]

Depress [:J key

Index @

Depress [:] key {Read 111.105 first answer}

Your 803M 15 now remembering your myltiplier (12.345)
and the fact that you are multiplying. Now:

Index [1](1]

Depress [:} key {Read 135.755 second answer)

Index @

Oepress f:] key {Read 160.485 third answer)

“"Implied Constant" for Division

For constant division using 2 common divisor, the

principle is the same as above except your BO3M will
remember the secornd factor (divisurg and the fact

that you are dividing. For example: 1153 : 12.887
46 = 12.987

16 ¢+ 12.987
et decimal switch at "F" pasition

Index E‘:j[:ﬂ_}
Deprass key

tndex {1](2){-J(0){8](7]

Depress [:] key (Read first answer: 131.781011)
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Index E!E:][B

Depress [:j key ({Read second answer: 71.242011%)

Index [:J[:} ~

Jepress [:] key (Read third answer: 1.232001%)

"Keyboard Memory' Systen

Your Columbia 8034 has another unique "Memory System"
which 1s particularly useful in business calculations
for computing tax add-ons and discounts. You will
recall that your B803M has the abiliiy to remember a

number entered into the keyboard for repeated addition
and subtraction. It alsc has the ability to remember

the previcus number entered into the keyboard:! Let's
take the foltowing problem and go through it in 2 ways,
1Y The way it is done with an ordinary calcuiator;
and, 2) The way 1t 1s done on the 803M. Problem:

An ftem s5elis for $59.95. Sales tax of 5% must be

chavaoed. What is the amount of the sales tax? What
is the total =elling price?
%09,08 X 54 = 7 + 349,95 = 7

1} Set decimal switch at "F" position

incex (BDEEE

Deprass [I]

Index {+1(0){5] (for 5%)

Depress f:] {Read sales tax: 4.9975;

Depress Key

Index. @@D@@

Depress key {Read total price: 104.9475)

“Rounded-aff* this answer would be $104.95.
Page 1?2
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2} Set decimal switch at "2" position

Index (9){9)(-J{9](5]

Daepress [:] Kay

Index [:]
Depress key

Depress key {Read total price: 104.95)

(Read sales tax: 5.00)

You will see that you Just saved B depressions and

received your answer "rounded-off™ to the nearest
cont.

Here's another typical problem: An ftem seils for
$179.588 with a discount of 33.3%. Sales tax is 63,
Freight charges of $2,35 must be added to the net

price. 179.88 X {-33.3%y = ? X 63 = 7 + 2.35 =71

Set decimal switch at 2" position.

ndex (2L J8)(E.

Depress [:] key

[ndex @E]@

Depress %] key (Read discount: 59.90)
Depress [:] key {Read net price: 115.98)

Depress key
Index @

Dapress key ({Read sales tax: 7.2{)
Depress key (Read total price: 127.18)

Index [2]J(3}{5]

Depress [+] key {Read total sales cost: 129.53)
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Using the "Accumulating Memory"

Index } 7
Mow let's perform a typical invoice extension problem

and obtain a "“Grand Total”. Depress (%] key (Read discount: -16.13)
The problem: 7 {tems at $3.58 each; 11 items at $3.65

gach; 13 1tems at $12.65 each; less a 7% discount;
plys 6% sales tax: plus $1.50 delivery charge, Depress {::] ey (Read reduced total: 214.23)

Set decimal switch at "2" position.

Set "AM* switch to left position (On). - Depress [X] key
Index Index
Depreoss [:] . Depress [:] key {Read sales tax: 12.85)
tndex [3}-)[6)[8] . Depress [RM] key (Read sales price: 227.08)
Depress E] (Read first answer: 25.76) Lndex Ejtﬁ]@j

Depress key (Read total invoice: 228,58}
You wil? notice that the memory light has come On to |

tell you the 803M is storing your answer. Before proceeding to the next problem you must depress

Index E] - the key to clear the memory. @
let's procead to a proration problem {percentage
Dapress key distribution against tﬂta% sales). The prnblimﬁﬂ
Department "A" sales are $3,456.C0; Deparimen "
Hndex @B@E saF],es are 37,891.00; DEPEEWEEE ;E“ cates are 31,230.00;
"D salps are 32 L0,
Depress E] key (Read second answer: 40.15) ' Department “D° sale ’
Hh?t are tge tnEal saieg? Hgat Eﬁrcﬁnﬁage ﬂi ?hetﬁﬁta1
sales was done by each departmen ake certain the
tndex [T)[2][- )(6)(5]

napcentages total to 100%.

Depress [:j key 3,456,.00 + 7,891.00 + §,230.40 + 2,589,00 = T5 .

3456 ¢ TS = 1 §
Index 7891 & TS5 = 'g *
Bepress [:] key (Read third answer: 1364.45) }Egg : $§ i ? i
0%
flepress key (Read total: 230.36) Set decimal switch at “2" position, "AM" switch off.
Depress key " Index {3)(3](5](6]
Depress i+/«| kay {to make your next calculation a
discount Jepress key

Page 14 index {7)(8](9](7]
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depress | +] key First sale: An item sells at $T15.50. S$ales tax is
m@ h%. What is the tax? What is total sale?
Index 23
- second sale: An item Tists for $59.95, It §s5 dis-
Jepress key counted 15%. What 15 the amount of the discaunt?

What js the total sale?
index [2][5]{8](9]

Deprass key {Read total sales: 15166.)

Cepress kEy
E‘ Fourth problem: What is the total of all the above
Depress E} key saies?

this causes the 15,166 to switch to
{ ’ “ Set dectmal at "2" position. "“AM" switch off.

the positton of constant divisor)
1} tndex [(1)1)(5)[ - Ni5]

Pepress Ei key

Index @@j@ , Index Eﬁj

Depress [=} key (Read 0.23 for 23% of sales)

Third problem: An item lists at 33.95. It is dis-

counted 50% and 10%. What are the amounts of each
discount. What is the net cost?

et "AM" swifch on to acoumulate percentage totals.

Depress ey (Read Tax: 5.78}

Index {7][8){ g} 1) Depress [+ key ({Read Total Sale: 121.28)
Depress [:] key (Read 0.52 for 52% of sales) AT switch on €—

Depress [=] kay (Adds 121.28 into memory)
Indax m@@ "AY switch off —
Depress [=] key {Read 0.08 for 8% of sales) 2y Index (58] 28]
Index [2)(5)(8}(9] Depress {X] key

fepress [:] kay {Read 0.17 for 17% of sales)

UEPress key (Read 1.00 for 100% of sales)

Indtviduat Sales Caleulation and Grand Totals

ow we will perform calculations using both the
"Keyboard Memory System” apd the "Accumulating Mempry®
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Yndex EIIE

Depress key (Read discount: 8.95)
Depress [ -] key {(Read net sale: 50.96)
"AM" switch on «—

Gepress |E} key [Adds 50.98 iato memory)

"M switch off
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3)  Index @E]@@
Depress E] key
Index [5]{o]

Depress kay (Read st discount: 1.88)
Dapress B key {Read new net: 1.97}

Depress [X] key

Index m@

Depress key (Read 2nd discount: ,20)

Depress [~} kay {Read net sale: 1.77}
"AM" switch Oon €—

Depress E] key {Adds 1.77 into memory)

4) Depress @ key (Read Grand Total: 174.01)

Squaring and Raising tc Power
Let’s square the number i¢ {122}*

Decimal set at “F" position - "AM" switch off,

Index [j]

Depress @ kay
Depress [=] key (Read answer: 144.)

Now let's find 12.2 to the third power (12.27).
Index LUE]E]
Depress key
Cepress [:] key [Read 12.22: 148.84)
Depress [=] kay (Read 12.2°: 1815.848)
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Find the answar to this problem {E*EEEJ

Index @B@@

Depross EE] Key

Depress [:] key {Read: E.EEE: 6.5636)

Depress | X| key

Depress B {Read 2,56%: 42.5349672)

Depress @ key

pepress [=] key {Read 2.56°: 1844.6743)

or, you may do the same problem in this manner:

Index E!:][:j@@

Depress I_T_] Key
Depress key
[epress E key
Depress [=] key
Depress [3 Key
Depress | =} key
Depress E] key
Lepress E:] key

(Read 2.56°:
[Aead 2,569
(Read 2.56%;
(Read 2.567:
(Read 2.56%:
(Read 2.56' :
(Read 2,560

6.5536)
16.777216)
42.949672
109.95116)
£281.47496)
720.57589)
1844.,6742)

Now fetls find the answer to this problem:

(6% X 6° = 7)

Fndex @
Depress | X} key
Depress [:] Key

{Read EE:

Page 19
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‘84 Switch On &—
Depress =] key (Read 97 : 728.)
“"AM* Switch 0ff ——

Index [:]

Depress key

Depress (=] key {Read 6%: 36.)
Dopress [j] key [Read 63: 216.)
Depress {=] key {Read 6%: 1296,)
Dapress [:] key {Read 62 : 7776.}
Depress {¥] key

Depress @ key (Read 9° : 729.)

Depress | =) key (Read answer: S5668704.)

Payral]l Applicatien with Ovartime and Daductions

The problem is as follows: An employee is paid $4.87
ner hour. He has worked 40 hours at reguiar pay and
? hours at time and cone-half. We must deduct 5.84%
F.I.C.A., $22.40 Withholding Tax. %3.70 Union Dues,
and $7.06 for Credit Unfon. Ye must see his straight

time pay, overtime pay, gross pay and his net pay.

Set decimal at "2" Position
"I Switch On &—— Depress

[ndex @B

Deprass [:3 kay

Index [:}[:}

Depress [ﬂ key (Read straight pay: 194,80)

index {4){-])(8)[7)
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Depress EE] key

Index

Depress [:] key

Index mi:l@{ﬂ]r time and one-half)
Depress (=] key ({Read overtime pay: 51.14)

Depress key (Read Gross Pay; 245.94)
Depress [Ej kay

[ndex @E]@

Deprass key {(To make this a deduction)
Depress IHI key (Read FICA: -14.36)}

Deprass Key {Read Pay after FICA: 231.58}

index @@B {withholding tax}

Oenrass [:] keay
Index [E__I[Z} {Urion dues)
Depress fj] Key

Index E]D@[E] (Cradit union}

Depress [-] Key (Read Net Pay: 204.42)

Depreciation of Caltculation of Fixed Assets

Find the yearily doilar depreciation for each year and
the valuye of the fixed asset after sach year. Problem:
One mi11ing machine which was purchased for £14,500.00
must be deprecizted 1n 3 years until only 10% of the
ortginal purchase price remains {which is the salvage
value of the machine). The 10% salvage value may be

within plus or minus 12 as aliowed by Standard Depre-
ciation Schedules.
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et decima) switch at "2 Position
tppt Suitch On «<—— Depress [QEL

[ndex @@! 0 II_E_;!

Jepress B Key {To place into MEmory

Index B@@ {The 3 yr. formula allowed on .

standard depreciation scheduies)

Jepyress

Depress (To make all calculations subtract from
memory ) '

Depress Key

Depress [Ei tey {Read 1st year depreciation: YVEFS.

Depress Key (Read Tst year value: 6728.)
Depress [:] Key [Read Znd year depreciation: -3606.21)

Depress @ Key (Read 2nd year value: 3121.79)

Lepress [:] ¥ey (Read 3rd year depreciation; -1673.28}
Depress @ ey {(Read 3rd year value: 1448.51)

Thiz instruction manual and your 803M can make you an axpert
in using electronic calculators ard will increase your enjoy-
ment of this fine instrumeni., We at Columbia Scientific hope
vau find this 8034 to bhe your most valuable tool.

Columbia Sclentific

1730 22nd 5t.
tanta Monica, CA 90404
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